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-2AE2RA 3,875,000& 3,875
=A==l B ONL: ]| 3,000,000& 3,000
O4. Xt ety| 7,556
-532(3H) 4,218,000 »1CH 4,218
-st=(2d) 3,338,000& »1CH 3,338
HR=A 0| 112,320 109,200 3,120
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A QES
SH: NS MNP (YNBIUE/YNBE)
CHol: ZOISlE MECD (cHol a2
SN HB SR (BIH) - A - B S 0l &b S D=2
A H 9 FAY - BES &5 Ofl & 04 ree
O2011e sgsSdatdsus H4L S4d|
7,000& 120 840
405 KH&HFSHI 500 0 500
01 ML ESHSHI 500 0 500
Oo&s #8371 500, 0003 *1CH 500
sclgtd 23 144,360 143,560 800
301 Ypt8azg 144,360 143,560 800
05 S-cl-tEEs2Eas 144,360 143,560 800
Ooscl&E=g 121,360
-2+ 200,000& *37H »12& 88,800
- 0= 200,000& »37H 23] 14,800
-39 =g 20,000& +x37H »23| 123 17,760
Oogt&Esg 25,0003 460 »22] 23,000
NE2s 29 43,784 20,168 23,616
101 el H] 19,604 9,538 10,066
04 JItHIZ2E2NEE S 19,604 9,538 10,066
NN 2e|RY 35,2003 x2H +250L 17,645
O4AEE J|IAa2E3 17,645,000& *11. 1% 1,959
201 LBt 3| 8,880 4,080 4,800
01 AtS 22/l 2,400 1,200 1,200
O1.g8t23| 2,400
RN LS|
100, 0002 *201 A x 123 2,400
02 2224l 6,480 2,880 3,600
O1.3Z234HA(AES=N2  FESNSE) 6,480
=523 20,0003 3 2 +12& 720
-HIIes 80,0003 3 A +12& 2,880
-Hales 2 AHY ME
60,0003 42 & +12& 2,880
207 A IOHEHI 800 350 450
02 MAHEHI 800 350 450
OE MDBF=HI 8003 *2JH A 500 800
301 et2a = 2,400 1,200 1,200
10 HALAHIZ2 &3 2,400 1,200 1,200
OXsEM2 X2 S AR 2hal
2,000 20 A x2H #2522 x 12 2,400
405 KH&HFESHI 12,100 5,000 7,100
01 T =SS HSHI 2,100 0 2,100
0L RS WYl 7Y
2,100,000& = 1CH 2,100
02 S 10,000 5,000 5,000
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M 283
HH: QFE ZEHAX2H (LB IHH/UUAH)
ool =0istg HEED (&9 HM
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K gggﬁg HwsZ
O&EM7HI 10,0003 *2JH 2 #5003 10,000
ES MESHH =4 99,427 92,608 6,819
g 2te| 12,616 12,409 207
101 el H] 7,720 7,513 207
04 JIZHMIZ2XSE 7,720 7,513 207
OGtEJ| &AAtY 22 38,6002 x2H+90L 6,948
O4U2E JI2RE3 6,948,000& x11.1% 772
206 M=l 4,896 4,896 0
01 M=l 4,896 4,896 0
OYSAME RRU(HLR) 1,70024%32 4 x50 4,896
MES A EH| 86,811 80,199 6,612
101 el 4] 66,791 60,179 6,612
04 JIZHMIZ2XSE =+ 66,791 60,179 6,612
O20A SSaHE4A 23| URY
35,290 x1H+202 + 123 8,470
O4UEE 12243 8,470,000 *11. 1% 941
OAS MaH ZFH(JLXtel #E) 52,850
-012 200,000& 35 +7& 49,000
-28 2 f0& 110,000& «35H 3,850
OQHS BEt&EA Zel(LodRiel &F) 4,530
-o1fy 200,000 3 +7& 4,200
-28 2 f0i3 110,000& «3H 330
201 Let2H| 3,560 3,560 0
01 AtE22(H] 2,240 2,240 0
O1. g 8t=ZH| 2,240
—QOIAF AIEZS S EA 22 2,240
st Al 800,000& =13 800
228 F7¢ 15,0002 x8& 128 1,440
Ob.2&H| 0
02 23223l 1,320 1,320 0
O1.2523Z Al 1,320
“QOAF AIHZSSSHEA 201a=E2
50,000& =128 600
-QOIAF AIB S S EA HIIE
60,000& 123 720
206 M=l 16,460 16,460 0
01 M=l 16,460 16,460 0
O3&X =4 e 7L (ZIE)
20,000& x100 £ *23l 4,000
O=28ugE ZHEX £ 78  5,000,000& *22] 10,000
Onz=Z &Ll XM 2 2,460
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M 283

M OHS SHUNSA(UUBTUN/AVUE)
CHl BEE MBS XA (TR
SN HB SR (BIH) - A - B S 0l &b S D=2
- T - = S = &= 0:”/&,% WS
-PPELOH 2503 =6,0000H 1,500
-BIDE A2 330& *2,000Z &l 660
- 1,500& 2004 300
QES NAMNLML(ZELXN ML /XNSLZAI) 211,080 211,080 0
NG F0I=RAAY 211,080 211,080 0
WEEFNEls] 60,000 60,000 0
401 A &HIL 2048 60,000 60,000 0
01 Al&H| 60,000 60,000 0
OLn2 =0IMEHOIALY 60,000,000 14! 60,000
22X ALY 151,080 151,080 0
401 AlEHIZ 2 151,080 151,080 0
01 Al&HI 150,000 150,000 0
2422 s ZE S AHL=100m,B=2.5m)
20,000,000& *14! 20,000
ozH™el &2 &XI=AHL=80m)
15,000,000& *14! 15,000
O=x& 12l o=tz ZH I AHL=250m)
15,000,000 * 14! 15,000
O&4el orserd B3 AHL=100m)
10,000, 000& * 14 10,000
O&del sZZE S AHL=200m,B8=2.5m)
20,000,000& *14! 20,000
O=¢ets M4 & B 40,000,000& *14! 40,000
O0i2l0I B33 X2l (15JHA)
10,000,000& * 14! 10,000
O=Z=ZANEE2 FR&2(E=S)
20,000,000& *14! 20,000
03 AIZ R0l 1,080 1,080 0
O4RD FOSHAY ALRUY
150,000,000% *0.72/100 1,080
HY2IZUI(LAES)(JIEH/IIEH 365,786 319,102 46,684
Jl2du(Es) 365,786 319,102 46,684
FN23HI 224,506 160,452 64,054
201 et 224,506 160,452 64,054
01 AtS 22l 47,750 47,550 200
O1. 2 Et=EH| 26,700
-FA2YE LBt=ZH| 26,700,000& 26,700
03.28+¢ 8,850
- =X 50,000 *(116+61) 8,850
OLR=1=1:] 8,600
-2EA2Y =l 8,600, 000& 8,600
06.8x= 3,600
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RFE
BESAAY (LHES)(DIEHIIE)
Jl2dH(Es) = RS E
_ _ pSNE e
M- B8 S2(3H) - HRAY - BaS arey e =2
-HE2H U= 3,600,000& 3,600
02 =234l 176,756 112,902 63,854
O1.2223LAA 141,310
= 12,400,000& 12,400
== 1,700,000& 1,700
-EHotEe3 114,000, 000& 114,000
-IPIVE EdEY AIEE 25,0003+ 12& 300
-ESBNERE = 400
g 200,000& 200
HE 200,000& 200
SANESESRERE 11,000,000& 11,000
-NEMAS LS 1,510
S8(AE) 810,000 *1CH 810
st2(48) 700,000 *1CH 700
O2.¢=2Hl 13,589,000& 13,589
O3. A& ZHI= Xt 14,301
-2otS = X4l 5,000& 1,108 5,540
-A =KXl 6,061,000& 6,061
-HHED | KX 2,700,000& 2,700
O4. Xtk e 7,556
-5 E(2¥) 4,218,000 = 1CH 4,218
-stE2(AE) 3,338,000& *1CH 3,338
YR=A0H| 121,680 124,800 23,120
202 (4Hl 121,680 124,800 A3,120
02 EAHNYI 121,680 124,800 23,120
OZ Ao 260,000& «39H »12& 121,680
S=&H 14,600 14,600 0
203 ¥R =& 14,600 14,600 0
01 JI22IHRF4| 7,900 7,900 0
OJI 22 HRF4| 7,900,000& 7,900
02 FRAINMAHSFAH| 1,720 1,720 0
O IMH I = 40,000% 43 1,720
04 FN2IHRFAH 4,980 4,980 0
ORMN2ILRFLHI (R :43Y) 4,980
-2 350,000& <128 4,200
-Z 1t 5,000 «13H 128 780
ek 2 2 FFHSHI 5,000 19,250 A 14,250
405 AHeHESHI 5,000 19,250 A 14,250
01 ML ESHSHI 5,000 19,250 A 14,250
OFEA HEWH 2,000, 000& 14 2,000
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A HEH

o (50 SHUTLY(LUTIHI /A T)
Sl FDISHE BHED (el &2
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 giﬂgﬁ; bRz
SEEE 20,0002 *17% x25] 122 8,160
Ot a4g 25,0002 902 *23] 4,500
R 77,207 77,927 AT20
101 @121t 19,605 19,075 530
VBESEESEERS 19,605 19,075 530
OSX52 B4 A2 35,2009+ 2#2502 8,823
ONSTAHZ B2lRY 35,0009 +12+2502 8,823
O4URE Jlpeg2 17,646,0002%11. 1% 1,959
201 L2yl 50,242 49,042 1,200
01 ALR eIt 23,570 23,570 0
O1. L8| 12,370
~= 752 YoLsy| 2,000,000%! 2,000
RN YUY 100,000%! 122 1,200
~SYINFY HELL2 100,0002! 122 1,200
-HASE U HFUSE 7Y
100,000 * 122 1,200
~MY DI BYHEE(1004) P
2,200 %500 * 122 1,320
-HEE HA 500, 0002 *13] 500
S EER-EYY 1,000,008 13| 1,000
~RIFYIBY 448 110,0002 122 1,320
~FIIOHEBR] A2 90,000 %122 1,080
SAYBUHY 248 400,0002! 13l 400
-5 FIIMY 248 50,0002 *13] 150
~SX5|2 HHE AZY 1,000,000813] 1,000
03.294g 1,200
-=X52 H0lDA DR0Y Y4y
35,0002 %4 x2A| 2440 1,200
2 T2 26,672 25,472 1,200
O1. 2223 YLAA 22,040
-®#II23 1,400,000 * 128 16,800
M4 ABER 250, 00024 *122 3,000
= 45,0002 *122 540
-HBIM ANBE 50,0002 * 128 600
-=X 52 IPVEERESY ASE
25,0008 * 128 300
—HANNRYS 100,0002 %23 200
“HETNB MEe3 50,0002 * 128 600
O3. Al IR X 4,632
~HS R 1,632,002 1,632
R SIS 3,000,000% 3,000
207 o1 ofett 400 350 50
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M-S (3) - HRAY - BES Aro e =2
02 MAHEHI 400 350 50
OE MDBF=HI 800& *5002 400
301 Et2A = 1,960 1,960 0
10 HALAHIZ &3 1,960 1,960 0
O=Xal2t NHESAAE 3o &a A
7,000& *35% 83| 1,960
405 KHAHFESHI 5,000 7,500 22,500
02 S| 5,000 5,000 0
OEM=7LHI 10,000& *500 5,000
WA MESHH X4 68,237 59,794 8,443
o 2tel 10, 126 9,942 184
101 Q14| 6,862 6,678 184
04 JIZHMIZ2XEE =+ 6,862 6,678 184
OGtED| &9AtY 38,600 x2H +80L 6,176
O4Ui2E JI&8 6,176,000& *11.1% 686
206 M=l 3,264 3,264 0
01 M=H| 3,264 3,264 0
OAAY SFU(H 1,7003 %24 ¢ x80L 3,264
ME S F FH| 58,111 49,852 8,259
101 Q14| 56,571 48,512 8,059
04 JIZtHIZ22HsE+ 56,571 48,512 8,059
OlEH Mz sZ3FH(=ogXiel &5) 37,750
-ol2 200,000 25 +7& 35,000
-2 ¥ R 110,000& «25H 2,750
OZESEA (2 ) BEEY o2y
35,290 x2H+20 * 123 16,940
O4tHEE J12=2 16,940,000 *11.1% 1,881
201 Let2I| 1,000 800 200
02 2223l 1,000 800 200
O3. A& &HI=X 1,000
-S53EA R 200, 0003 *5IH A~ 1,000
206 M=l 540 540 0
01 M=l 540 540 0
OZ2=st&Ea 34 18,0003 x5&+6&8 540
ANEMLAMSE (2 EL KNSLEZAl) 130,720 130,720 0
Fo=JAAMNY 130,720 130,720 0
TH & A HI 50,000 50,000 0
401 AlEHIZ 2 50,000 50,000 0
01 Al&HI 50,000 50,000 0
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SN &
D S0 NARSAY(RELT AN

~

KALEAl)

CHel: XIS F0I=2AAY (St &=
_ _ bSNE =
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
OARD Z=QIMETOIALY 50,000,000 * 14! 50,000
AR S AS Y 80,720 80,720 0
401 Al&HI LS 80,720 80,720 0
01 Al&H] 80,000 80,000 0
OEotE pld o Z4 20,000, 000 14l 20,000
O24=2| OtA2 EZZAFH(L=300m,B=3.0m)
20,000, 000 14l 20,000
Oat 2l OrSx Y2 T & AHL=200m,B=3.0m)
20,000, 000! 14l 20,000
Ozl S22 & X Z AH(L=80m)
20,000, 000! 14! 20,000
03 Al&=20HHI 720 720 0
OAFRR ZQI=2AAS Al E 2 HH|
80,000,000 «0.90/100 720
HHSAAH| (=SS )(IIEHDIE 188,635 177,195 11,440
QlASAHY|(HE D) 19, 141 19, 141 0
SHoE29| 19, 141 19, 141 0
101 Q14 19, 141 19, 141 0
03 RIHAZZXE S 19, 141 19, 141 0
o=2xsz el 19,141
22 29,0102 x 12313 9,081
At 2 9,081,0002! x 12 x1/12%300% 2,271
-HE S| 9,081,000 x 1 %1/12%120% 909
- o ZAlH| 80,000 x 1= x128& 960
-NEE XY 30,0002 x1H x12& 360
“hELY 100,000 1 « 122 1,200
A2t 2R 4G 5,440 x1H «22A| 2F+ 122 1,437
-F=sHg 29,0102« 1 %522 1,509
P VN = 29,0102 12 +22 x 122 %50% 349
“JH 2 XH]| 50,0002 x 1 x 128 600
—AXLG 29,0102 x1H » 16 465
JlE2dH(HsH) 169,494 158,054 11,440
229 92,414 85,214 7,200
201 LEHRYH| 92,414 85,214 7,200
01 AtR22t2IH] 27,885 27,845 40
O1.Yekx=2H] 13,425
-BEAN2Y Lot 13,425,000 13,425
03.2944 8,850
-2 == XY 50,0002 *(116+61) 8,850
O5. 2 2] 3,610
-2EA2Y S| 3,610,000 3,610
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A HEH
M HY2SZHI(HSS)(IIEH/IIE)
el JI23H(HsY) (98
SN FB SRS - HEMY - BES Lo e 2
O6. g2 2,000
-HERE FHISA= 2,000,000& 2,000
02 3323l 64,529 57,369 7,160
O1.2Z22=<HA 49,348
-Mll= 9,888,000& 9,888
=== 1,560,000& 1,560
-E2otSRs 34,000,000& 34,000
-IPVEEHSS MER 25,000& 122 300
SN RE=S 200
X 100,000& 100
A= 100,000& 100
—ENESERER 2,700,000& 2,700
-XHERAMS S 700
2 (AE) 700,000 = 1CH 700
O2.¢ =4 5,223,000 5,223
O3. A€ ZHI S X4 6,717
-2etsS =X bl 5,000& 340 1,700
-d == Al 3,517,000& 3,517
= A =a= W RN ] =] 1,500,000& 1,500
O4. Xt ety 3,241
-2 (AE) 3,241,000 = 1CH 3,241
HR=A0H| 65,520 59,280 6,240
202 O4dl 65,520 59,280 6,240
02 A0 65,520 59,280 6,240
O XN 260,000 21 »12& 65,520
Sl 11,560 11,560 0
203 AR =& 11,560 11,560 0
01 D22 HRF4| 6,600 6,600 0
OJI 223 L= 6,600, 000& 6,600
02 HBIIH RS 760 760 0
O3t 2= 2aH| 40,0003 x19& 760
04 BEN2SHRFAH 4,200 4,200 0
ORM2ILRFTHI(HA:19Y)
350,000& =128 4,200
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M HES
HH: HES SUUTRY(LYUDTHY/LUHE)
Sl WIS MEBHA E4 (9l &2
SA-EH O (BH) - HBAY - B2 Ao gggf; HRS2
206 i = Hl 1,632 1,632 0
01 M=Hl 1,632 1,632 0
OUYAIY SEFUH(FLR) 1,700&%16 £ »60L 1,632
MESHA A H| 33,220 30,200 3,020
101 Q1A H| 33,220 30,200 3,020
04 JIZHMZ2ZANSE 33,220 30,200 3,020
ONES MEzxz4H SA™Y (L =2E) 33,220
-o1gel 200,000& »22H »7& 30,800
-E28 2 £( | 110,000& 22 2,420
MES XNG9NLAMD(2ELX ML/ XNILEZA) 50,000 46,000 4,000
NS F=0I=3 ALY 50,000 46,000 4,000
THEFAFS HI 40,000 40,000 0
401 AIEHIZ 20| 40,000 40,000 0
01 Al&HI 40,000 40,000 0
OARR FOIMEHAANA 40,000,000& * 14! 40,000
A2 XS ASONE 10,000 6,000 4,000
401 AlEHI Y2 10,000 6,000 4,000
01 Al&H| 10,000 6,000 4,000
Oo=ots ald B 10,000,000& * 14 10,000
HYSHAHI(MES)(DIE Et) 80,834 64,184 16,650
JI2ZH(HESs) 80,834 64,184 16,650
M98l 28,914 23,644 5,270
201 Et2a | 28,914 23,644 5,270
01 AtR22telyl 11,820 11,820 0
O1.¢et=2H| 8,700
-2ENEY dit2Y| 8,700,000& 8,700
O5.2 &l 1,620
-2EANEY = 1,620,000 1,620
O6.dx = 1,500
-HZ2E & NI 1,500,000& 1,500
02 ss29Hl 17,094 11,824 5,270
O1.38322% 9,480
-MIIR23 6,000,000& 6,000
-+=ER23 400,000& 400
-IPTVEENS AES 25,000 *12& 300
S Ep foL 200
A2 100, 000& 100
=2S(AE 100, 000& 100
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D HES

D HE2SIH(MES)(OIE/IIE)

D J2ZHl(MEs)

_ _ _ N E
SN EB -GS - MBAY - BES arey o HRE2
—eNYERHR 1,400,000 1,400
~CCTVE 8 Y 40,0002 *128) 480
Ny e == 700
ste(48) 700,0002! 700
02.012H| 1,376,0002 1,376
O3. A& EHIS X bl 2,900
—AS KX 1,400,0002 1,400
~ LB 2 X b 1,500,0002 1,500
O4. ZHesa ety 3,338
-3t (2 8) 3,338,0002 3,338
R =0l 24,960 28,080 A3,120
202 0fHl 24,960 28,080 A3,120
02 22401l 24,960 28,080 A3,120
O" 01| 260,0008! 8 * 122 24,960
AR =Y 9,960 9,960 0
203 HeEXY| 9,960 9,960 0
01 JZ2HARE A 6,600 6,600 0
Ol Z2YHL =AY 6,600,0002 6,600
02 HRAIIAADZAY| 360 360 0
ORI DT Y| 40,0002 %9 360
04 BNSHALSAY| 3,000 3,000 0
ORANSIAREFH (e :0H)
250, 0002 * 122 3,000
RHah 2 223 S| 17,000 2,500 14,500
405 THAHE S| 17,000 2,500 14,500
01 HAYSEH S| 17,000 2,500 14,500
OSHFALE AP 17,000,0002 *1CH 17,000
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sns
SIS SUUTSY(YUBTUT/ /L)
OB HHED SRk
- _ _ pSNE N
A B2 (BH) - NRAY - Ba S Aol Sl aton 2
IR 200,000% +35% » 12 84,000
-4012 200,000 *352 x23| 14,000
=L 20,0009 x358 x23| * 12 16,800
Oprata 25,0002 322 x23 16,100
NEEC 49,604 19,688 29,916
101 o121H| 19,604 9,538 10,066
04 JIVAHIEXNSE S 19,604 9,538 10,066
nec o 35,2002 22 x2502 17,645
SR IPIE L=t 17,645,0002 %11 1% 1,959
201 Yereg| 15,800 3,600 2,200
01 At 2,400 1,200 1,200
O1.ger4gH| 2,400
~HeCHE Yers gt
100, 0002 128 %204 2 2,400
2 2z 3,400 2,400 1,000
O1.22 5,400
Pl 100,0008! * 128 *2JH 2 2,400
SIEEE 100,000 * 128 *20H 2 2,400
~M5e 50,0008 * 128 600
O1.28832 8,000
-pre 1,000,000 »42 2} 8,000
207 1N 800 350 450
02 ®&RE 800 350 450
O M08 800! +5002 *27H 2 800
301 Lty 2,400 1,200 1,200
10 8 AtaLH| 2,400 1,200 1,200
ORSTA ALRE 24
0008! *22 252 » 128 x20§ £ 2,400
405 XHarE S 11,000 5,000 6,000
01 XU SEFSH| 1,000 0 1,000
OMIt = 500,000 =27 1,000
02 EN7L 10,000 5,000 5,000
O=EMNT 10,000 «5002 *27H 2 0,000
B MB e 49,952 46,626 3,326
o 2ol 10,126 9,942 184
101 01244l 6,862 6.678 184
04 JI2HH2 6.862 6.678 184
Odt=2| o 38,6002 x2% =80 6,176
4= 6.176,0002%11. 1% 686
206 T2l 3,264 3,264 0
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fM: 238
SN SRE SHUEeY(YNBIUE/YNAE)
CHl BEE MBS XA chelH )
S - HAY .ol (3) o . ma= sk oy e 2
01 M=H| 3,264 3,264 0
OYgAANY 2RU(H 1,700 %24 ¢ x80L 3,264
M HEH| 39,826 36,684 3,142
101 Q1 Z4H| 37,926 34,778 3,148
04 JIZtHIZ22HEsE+ 37,926 34,778 3,148
OZss&Ey & 35,290 x1H*120 4,235
O4UEE JI22E3 4,235,000& *11. 1% 471
Oz Mexd SAHY(=oldXtel &2E) 33,220
-012e 200,000& 22H +7& 30,800
-28 2 f0Z4 110,000& »22H 2,420
206 M=l 1,900 1,906 AB
01 M= bl 1,900 1,906 A6
OZ3Ss&EA & 1,900
M IS 1,900,000& 1,900
258 NYNLAE(=E AU Al 68,000 63,000 5,000
HAF0=JAY 68,000 63,000 5,000
WEEFNRt=] 40,000 40,000 0
401 A EHIL 204 40,000 40,000 0
01 Al&HI 40,000 40,000 0
Oxnl =plMe 40,000,000 * 14! 40,000
AREX Ao 28,000 23,000 5,000
401 Al&HI YL S OHYI 28,000 23,000 5,000
01 Al&H| 28,000 23,000 5,000
2ots M4 20,000,000& *14! 20,000
O0eoIZ3U A A2
1,000,000 *8IH 2 8,000
HEY2IZU(S2S)(IIEH/IIE 97,294 100,817 23,523
|2ZH(238) 97,294 100,817 A 3,528
FN23HI 37,234 37,137 97
201 et 37,234 37,137 97
01 AtS 22/t 13,795 13,795 0
O1.d8t=2H| 9,825
-SA2E LEtxE 9,825,000& 9,825
O5. 2| 2,470
-EA2Y = 2,470,000 2,470
O6.4x=2 1,500
-HERY H 1,500,000& 1,500
02 2223l 23,439 23,342 97
O1.352=% 13,919
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S &

g Hy §=8)(OIE/IIE)
el JI2ZH(E2S) (98
SN FB SRS - HEMY - BES Lo e =El
-NHIIR=S 7,519,000& 7,519
== 1,000,000& 1,000
-A 200
NI 100,000& 100
A2 100,000& 100
SANESEREE 4,200,000 4,200
-IPTVEEHESS AIZE 25,000& 123 300
AEHAMS U3 700
2 (AE) 700,000 = 1CH 700
O2.¢ =4 2,257
=3I 1,376,000& 1,376
= 881,000 881
O3. A& &H 3,925
-AERA 1,525,000& 1,525
== 2,400,000& 2,400
O4. Xtz 3,338
-2 (A E 3,338,000 = 1CH 3,338
=0 37,440 40,560 A3,120
202 (4Hl 37,440 40,560 A3, 120
02 XN 37,440 40,560 A3,120
OF M 260,000 «12H 128 37,440
Sl 11,420 10,120 1,300
203 LR =& 11,420 10,120 1,300
01 JI 22 YL=AH 7,900 6,600 1,300
OJ 22 YL=L8H| 7,900,000& 7,900
02 HIAIMMHRE=EH 520 520 0
OFJ AR FHI 40,0003 «13¥ 520
04 RA2SERFAH| 3,000 3,000 0
ORN2EYRFXHI(HA:13E)
250,000& =128 3,000
& 2 SSHSH 11,200 13,000 A 1,800
405 XtobE SHI 11,200 13,000 A 1,800
01 ML =SEF 11,200 13,000 A 1,800
OHICI2ZZ ME(5,000ANS1) &
4,000,000 = 1CH 4,000
OLESZE=R 2,000,000& = 1CH 2,000
otltlex=z 700,000 1CH 700
Oszloaz 9 45,000& 1004 4,500
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M oIS

HH: (f0lS SEHH™2Y(
ol FRISHE BHCD

SN (B) - MBEAY - B2 0l aF ol Soe HRZ2
Oogtd4 25,000 163X *23| 8,150
NE2e 29 14,843 0 14,843
101 ol 24| 9,803 0 9,803
04 JIZHMIZ2=ZAsSE s 9,803 0 9,803
HechE Belosy 9,808
-0 35,290 x1H x250 8,823
“AEE D222 8,823,000& x11. 1% 980
201 Et24| 3,840 0 3,840
01 At 2telyl 3,840 0 3,840
OgEr249| 1,200
A2 A2 L2 100,000 12& 1,200
02222 2 MA(H2=AH) 2,640
-=ER23 20,000& x12& 240
-MII23 100,000& *12& 1,200
N33 50,000& x12& 600
-OIHY 3 AIEZ 50,0003 x 13| dx12& 600
301 LBEtEAZ 1,200 0 1,200
10 HAIAHIEAZ 1,200 0 1,200
ORSETAHZ RESAK 24
2,000& x2H x252 x 12 1,200
S MEtsd T4 41,128 37,948 3,180
el 7,908 7,748 160
101 o1 21H| 6,004 5,844 160
04 JIZHMZ2ZzAsE 6,004 5,844 160
O0dtEJ| &I AIY 12 38,6003 *x2H+x70 5,404
O4UiEE I3 5,404,000& *11.1% 600
206 i = HI 1,904 1,904 0
01 TH&HI 1,904 1,904 0
OYaAAE R0 s 1,700&%16 £ 70 1,904
AMESEH M Y| 33,220 30,200 3,020
101 o1 21H| 33,220 30,200 3,020
04 JIZtMI22XNHEE > 33,220 30,200 3,020
Ouols g2 XZol(ogdXtel &=) 33,220
-0 200,000& x22H «7& 30,800
28 2 20384 110, 000& »x22H 2,420
Hols KNYMHLAIE (2EL X EINL/XSLUZAl) 69,000 68,000 1,000
NS F=0l=R ALY 69,000 68,000 1,000
NEINA:]:] 40,000 40,000 0
401 AlEHIZE20UI 40,000 40,000 0
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dols
D U0ls KYEHEAIH(ZE

EESIET IV

T e/

2/

12

LU Al)

L RE-E

- SHRI(EAH) - NEAY - BE=

22
J2

20
B
2

01 Al&H] 40,000 40,000 0
OARR FoME 40,000,0002! 14! 40,000
AP AE Y 29,000 28,000 1,000
401 A& HILRHY] 29,000 28,000 1,000
01 Al&H] 29,000 28,000 1,000
Ogots g 20,000,0002 * 14! 20,000
OO2I0I B Al 22|
1,000,000 *9JH A 9,000
HH2HHHI(CHOIS) (IIEH/DIEH 84,865 96,808 11,943
Jle2ddl(tols) 84,865 96,808 A 11,943
el 37,465 36,738 727
201 ety 37,465 36,738 727
01 AFR22/Hl 13,380 13,380 0
O1.get424| 9,600
-EARY g2 9,600,0002 9,600
O5.2 I 2,280
-2EN2Y S 2,280,0002 2,280
06.24x2 1,500
-HYRd & 1,500,000 1,500
02 B2l 24,085 23,358 727
01.8322% 16,100
Splie= 9,500,000 9,500
= 900,000&4 900
=PI P == 200
N 100,000 100
A2 100,000 100
—ENLSRE2 4,500,000 4,500
S E= (Y[ =" 700
IS(28) 700,00024 +1CH 700
SIPVEEXESY AIE2 25,0002 x 128 300
O2.9424| 700
-2Z7| 700,000& 700
O3. A& X HI S XYl 3,947
-AESR Xl 1,847,000 1,847
~HL )| S| 2,100,000 2,100
O4. Xtea ety 3,338
-S2(2E) 3,338,000 *1CH 3,338
SEX 0L 34,320 37,440 A3,120
202 04 H 34,320 37,440 A3,120
02 M0 34,320 37,440 A3,120
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A Uols
M HY2FZHI(THOIS)(IIEH/IIE)

el JI2ZHI(tols) (ctel: &

SN HH G (EH) - MBAY - BYS 01l &k o Soe s
O HHHI 260,000& *11H *123 34,320
HRF&HI 10,080
203 HRF&HI 10,080
01 J|22IHFF=&HI 6,600
OJI22IHRF48| 6,600,000& 6,600
02 FRAINMAHRFAHI 480
O&E It 2 =] 40,000 x12Z 480
04 EASIHFFLH 3,000

ORN2ZIH2FIHI (B :12Y)

250,000 «12& 3,000
ek 2 2 FFHSHI 3,000
405 XH&HFSHI 3,000
01 XL SSFSHI 3,000
OYEZNYH 2 3,000,000 = 1CH 3,000
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